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 807 שאלון פתרון

1 .א .1 2F (2k,0) , F ( 2k,0) 

x(1) .ב 2k  

  (2)A(8k,8k) 

k ג. 1 

 קטן ממנו! ד.

 

 

 וכחהה .א .2

(1) .ב
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3 3 3
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 הוכחה( 2) 

,A(4(1) .ג 3,0)  

 (2)c '(3,4,5) 

x ד. (7,1,0) t( 4,3,5)   

x ה. (7,1,0) t( 4,3,5) S(1,0,0)    
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   

d ב.  6 

w .ג  6 , arg(w) 45   

n ד.  6 



 

 

yזוגי:  n (1) א. .4 3   

       n זוגי: -איy 5   

  (2 )n  :זוגיmin(0, 4) 

       n זוגי: אין-אי 

  (3 )n  :זוגי 

 

 

 

       n זוגי:  -אי 

 

 

 

( 1) ב. (0, 4), ln(4),5 

 (2 )1.955 

( 1) ג. max(0,4) , min ln(3),0 

 (2 )3 k 4  

 



 

 

 

x( 1) .א .5 0 

 (2 )min(1,1) 

 (3 ) 

 

 

 

 (e,0)( 1) ב.

 xאף עולה: ( 2) 

  x> 0יורדת:        

 (3 )0 x 1:   

      x 1:  

 (4) 

 

 

 

 1.132 ג. 

 


